
serial answers correct
Βαθμός	
  
(Max=10) AM

137 DBACCA-­‐ DAABDAC 2.86 1120
149 -­‐-­‐BBCAC BAABCAC 5.24 1247
134 BA-­‐DCCD DDCDBDD 0.96 1392
142 ACAADAB CCABDCB 4.29 3518
146 DBABBD-­‐ CBDBBDC 4.76 3692
135 ACADCAD AADBBAB 0.47 3809
144 -­‐D-­‐-­‐B-­‐D CDCDDDD 2.39 4023
145 B-­‐-­‐BAAD AADBAAD 5.24 4039
147 -­‐BDD-­‐BC	
   BCCCDBA 0.00 4044
2 CABAAB-­‐ DBBDABA 2.86 4046

133 DBD-­‐C-­‐C DBCCBCC 3.33 4154
148 BAACDD-­‐ BADDDDB 4.76 4269
132 CCBBDAC CCCADDA 2.39 4272
143 C-­‐DD-­‐AB CCDDBCB 5.24 4278
150 -­‐D-­‐-­‐CA-­‐ BADACAA 2.39 4288
136 CDAB-­‐-­‐D ADADACB 1.43 4303
151 CBCB-­‐CA BBCCBCA 4.76 4333


